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Candidates are required to give their answers in their own
words as far as practicable. - -

GROUP - A
( Multiple Choice Type Questions )

ript ) -

ten of the

1. Choose the correct: alternatives for any
. . ' 10x1=10

- following : ' | ‘
i) A fall in the price of X from $12 to $8 causes an

' increase in the quantity of Y demanded from 900 to -
¢ 1,100 units. Xand Yare -

a}~ complemerits b) hor_rnal goodsA

~ ¢c) substitutes : d) inferior goods.
ii) A ‘vertical supply curve indicates an elasticity of
supply that equals - | _ '
a0 © b) infinity
o ' 9}(1 | o d) none of these.
iii) If total revenue is divided by the units sold, we
shall get o
a) total revenuc b mérginal revenue

! | _
Sl/awerage revenue ;- d) total profit.
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iv)

| vi).

vii)

) v111) Average revenue is always ..................

gn INCrease in Raima's income decreases her
emand for cassette tapes. For her, cassettc tapes

are
a)  a complement to any good

b)  a normal good |
£} an inferior good

d a Substitute good.

The price elasticity of demand can range between

. @) . negative one and one

b)- zero and infinity

C) zero and one

d) negative infinity and infinity.

Change in the demand for apples due to increase

in its price is ....... everenees of demand
a) contraction  °© b) extension
- €) increase _d}~ decrease.

1If .total revenue is divided by the units sold, we
shall get
a) totalrevenue . b}

_Mverage revenue = d) total profit.
the price of

- marginal revenue

the commodity. N _
equalto = o b)  more than

)
‘ ylesser than . - d) more or lesser than.
ix) If a rightward sh1ft of the ‘'supply curve leads to a 6
percent decrease m ‘the price and a 5. percent,
increase in the. quantlty demanded, the price
elasticity of demand 13 . :
‘a) 083 . b) 0-30
| c) 060 - - d) 1-20.
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x) If all reSOur ct
are ine CeS Ugeq jn the production of a produ
by 2 ‘eased 20 percent and output increases
y <0 percent th P st be
‘a) e n there mu
Conomles
b) disecopn Of scale
< co OMies of scale
d) nstant returns t o scale
: i
argina] Product i decreaslng, total product W111
lncrease at the
-g)/ .................. ‘rate. |
Same ~ ©b) increasing
) < decreasing "~ d) normal.
?‘9) Which is not g fixed cost ? ‘
a) monthly rent of $1,000 contractually spec1fied
_b) an lnsurance premlum of $50 per year Pald
last month
€} an attorney's retajner,_of $50,000 per year
d) a worker's wage of $15 per hour.
. ' GROUP - B
.- ( Short Answer Type Questions )

Answer any three of the followmg ., 3%x5=15
g/ How i1 18 the demand for a commodity affected by a fall 1n '
~ the price of other commodities ? Explain.
3¢~ Differentiate  between substitute  goods ~  and e
- complementary goods. |
4.~ Distinguish between expansmn in demand and ] increase

in demand.
5, Show the different degrees of elast1c1ty of demand Wlth

the help of a diagram.

| 6. Write down the concept of normal goods and 1nfenor -

goods ? -

l'“'_--1'405/1(1\') 3,.‘_" - . [Tum qver’\::f'. -
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GROUP - C
( Long Answer Type Questions )
Answer any three of the following. 3 x 15 = 45
2~ How do you define the influencing factors of demand.-
Explain why the demand curve for an inferior good does
not have to be upward rising. 5+ 10

L/ What is elasticity ? How can you measure price elasticity o

of demand ? Explain any two methods. - 2+10+3
9. Suppose the demand function for story books is given
by

D, =100 - 0-5P, + 2P+ 100Y"
where D = demand for story books
| P, = Price of story books

P = price of toys
Y = income of the buyer .
i)  Find price elastlcxty of story books when P, =60..

i) What do you conclude about nature of story books
~from its income elasticity when Y = 50 ? :
'iii) From the cross price elasticity (when P = 10 ), how
" -can you conclude about the relation between story ._ .
‘books and toys? = : - S+5+95
- 10. a) ~ What economic measure can the government take -
| " to reduce  demand for cornmod1ty X which is-
harmful for health ?
'b) Suggest any economic ‘measure by Wthh the
' government can promote consumptlon of KHADI.. |
. 8+7f
L/What is demand ? Why the slope of demand curve is
s downward State the exceptions to the Law of demand; ?*f
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